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( Basic Knowledge Review /

A. Integral Indices
Forn=1, wowriea'asa

(a) Positive integral indices
If n is a positive integer, " means that ‘a’is multiplied by itself n times,

ie d"=axaxax..xa CE) dnisa positive integer
Sl
n times

where a is called the base, and n is called the index. dnisalso called the power or the exponent.
For example,

() #=4x4x4=64 @) 3)'=ENxEHXENREI) =81
O A O
(M)ll-s XXy

(b) Zero and negative integral indices 'C) Basic Topical Worksheet 29
If a # 0, then

I 2 o
(if) @™ =—, where n is a positive integer.
a

For example,

®» 2°=1 @ (-2)7'=

B. Laws of Integral Indices 17} sase Topcal Worksnests 30,31, 32
If m and n are integers and a, b # 0, then we have

Law (1): a"xad"=d

Law(2): a"+d"= "7 =d
a

Law (3): (@)"=a""" @ @

Teachers should remind students

Law (4): (ab)"= a'b” the foliowing points.
2 Law (1) a"xa"y a™"
al'_d Pl
aw (5): |5 =75
Law o [”] b Law@a o'y a" "
Lol o o
For example,

@ Fxy=3=¥ ), (3 =3"=
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